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Horizontal & Inclined Conveyor Load/Torque Values For Types A-B-C-D-E-H-I-P Conveyors
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Angle From Horizontal (Deg)
Steel Bed (A) 0.250 0.336 0.420 0.500 0.577 0.649 0.717 0.778 0.834 0.884 0.927 0.963 0.991 1.012 1.025 1.031
Steel Bed (B) Ibs. 30.00 22.31 17.86 14.99 13.00 11.55 10.47 9.64 8.99 8.49 8.09 7.79 7.57 7.41 7.32 7.28
Chart # 1
Stainless Steel Bed
(A) 0.150 0.237 0.321 0.404 0.483 0.559 0.630 0.696 0.758 0.813 0.862 0.905 0.941 0.970 0.991 1.005
Stainless Steel Bed
(B) Ibs. 50.00 31.70 23.34 18.58 15.53 13.43 11.91 10.77 9.90 9.22 8.70 8.29 7.97 7.73 7.57 7.46
Chart # 2 Chart # 3
Belt Width Unloaded Conveyor Torque| Unloaded Conveyor Torque
Type (C) (D) End Drive ( E; ) Center Drive ( E, ) Example: 6" wide End Drive Conveyor @ 30 Deg. Incline with a AA Belt using a Steel Bed with a 50lbs. Max load.
AA 0.83 2.50 3 Inch Ibs. 5 Inch Ibs.
AC 0.53 3.25 4 Inch Ibs. 6 Inch Ibs. Conveyor Potential Load Capacity = B (Chart# 1) X C (Chart # 2) X D (Chart # 3)
AD 0.50 4.50 5 Inch Ibs. 8 Inch Ibs.
AE 0.66 6.00 7 Inch Ibs. 10 Inch Ibs. =(10.47) X (0.83) X (6) = 52Ibs.
AF 0.66 7.50 8 Inch Ibs. 12 Inch Ibs.
Al 0.80 12.00 10 Inch Ibs. 15 Inch Ibs. Torque Required (with 50Ibs. Load) = A (Chart# 1) X Load +[ E; or E,](Chart # 3)
AJ 18.00 14 Inch Ibs. 21 Inch Ibs.
AK 0.43 24.00 18 Inch Ibs. 27 Inch Ibs. =(0.717) X (50) + (7) = 42.85 Inch-Ibs
AL 0.58
AM 0.68 If this example were being run in a horizontal position, the potential load and torque values would be as follows:
AN
Load capacities are based on Conveyor Potential Load Capacity = (30) X (0.83) X (6) = 149Ibs.
Note: Above uniform distribution of a non-
Factors can be accumulating load moving Torque Required (with 50Ibs. load) = (0.25) X (50) + (7) = 19.5 Inch-Ibs.
increased, contact towards drive.
Factory for details. Torque Required (with 149Ibs. load) = (0.25) X (149) + (7) = 44.25 Inch-lbs.
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